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DP CONSTABLE MOCK TEST - 84 (SOLUTION)
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87. (B) gelW di feyk,h x;h dy el = 100 fdxk
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09555108888, 095552088838

1 uku 1]

=20 bdib = 80,000 fdxi-

= 1 bdib = 4,000 fdxi

. dy geivW = 100 x 4000 = 4,00,000 fdxi
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(D) VHI'V vklr otu
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90. (B) 675=5x5x3x3x3 96. uk B[k, k 30 rFk 28 g
- VHI'V 1[5k = I[kv kx 30 +28 = 58
91. (B) NV=300-274.50 =% 25.50 ve Ik db 17 1 Hix dju ij] "¢ =
. o _ 2550 _ 8.5%
NV % 300 < 100 = 8.5% 07 (C) v 1+2+3 4. +m= n(n2+ 1)
92. (A) etk et di eY; cvij dIf di cgh
4t+ 5c = 1000 (i) L1243+ .
25(25 +1
4 x(txiég)+ 5 X(Cxiigj—(4t+ 59 = 120 _ 5 s ,13
Mt 41439 502120 vl VHIYV skx dk x.lu[iM 13 gA
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5+c—1202c—?40 16x8x36  24x12x32
.t =% 200 480 x
93. (D) ert di dy I[;k=1136+ 7636 + 11628 = x =960
= 20400 - dfl;kdh vHi'Y Ik =960
T — 11628
VHI'V ifrr =204OO x 100 = 57% 99. (Q) % = 0.6 Vij g =0.86
94. (B) eluk yMdk dh I[;k=B wij ymid;k . .
B=G-2 vCc] = =0.5, — =0.87
+ B+ G=52 2 8
~G-2+G =52 [~ B=G-2] 2
=G =27,B=25 3 =0.67, 5 =033
dy otu= 52 x 52 = 2704fdxk
yMdk dk dy otu= 25 x 60 = 1500fdxk VoI
Yivfd ;k dk dy otu = 2704 -1500
=1204 fdxk 100. (C) 1+0.5= 2= 2
1204 5
Yivfd sk dk vklr = ——— = 44.59 fdxk 0.5=0.5
27 5)2 = 0.25
95. (A) eluk vidld I[;t xWij U;ure 1]k y gh (0.5 =0.
y y 0.5 =0.55......
.'.x—§=(y_§jx5 - U;ure I[;k=(0.5)
DP CONSTABLE MOCK TEST - 84 (ANSWER KEY)
1. (A) 11. (D) 21. (A) 31. (B) 41. (C) 51. (A) 61. (C) 71. (D) 81. (B) 91. (B)
2. (A) 12. (B) 22. (D) 32. (A) 42. (D) 52. (A) 62. (B) 72. (B) 82. (D) 92. (A)
3. (C) 13. (C) 23. (D) 33. (A) 43. (B) 53. (C) 63. (A) 73. (C) 83. (D) 93. (D)
4. (A) 14. (A) 24. (D) 34. (C) 44. (A) 54. (D) 64. (A) 74. (A) 84. (B) 94. (B)
5. (A) 15. (D) 25. (A) 35. (A) 45. (D) 55. (D) 65. (D) 75. (B) 85. (C) 95. (A)
6. (C) 16. (D) 26. (A) 36. (B) 46. (C) 56. (A) 66. (C) 76. (C) 86. (C) 96. (B)
7. (D) 17. (A) 27. (B) 37. (B) 47. (B) 57. (C) 67. (D) 77. (D) 87. (B) 97. (C)
8. (A) 18. (B) 28. (D) 38. (B) 48. (A) 58. (D) 68. (A) 78. (A) 88. (B) 98. (A)
9. (D) 19. (B) 29. (D) 39. (B) 49. (C) 59. (C) 69. (A) 79. (B) 89. (D) 99. (C)
10. (D) 20. (D) 30. (C) 40. (B) 50. (B) 60. (C) 70. (C) 80. (A) 90. (B) 100. (C)
Ph: O9555108888, 09555208888






